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| L2 algorithm time (trg -> evtacc) | Entries
ean

RMS
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- 1 1 1 | 1 1 1 | 1 1 1 | 1 1 1 | 1 1 1 | 1 1 1 | 1 1 1 | 1 1 1 | 1 1 1 | 1 1 1
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us
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- 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1
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us
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| BCE times (relative to L1) | Enies 1| | BCW times (relative to L1) | Entries 1
Mean 27 Mean 36
RMS 0 RMS 0O
g e
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Chi | 111 | 111 | 111 | 111 | 111 111 | 111 | 111 | 111 Cli 11 | 11 1 1 | 11 1 1 | 11 1 1 | 11 1 1 | 11 1 1
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us

us
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| FPE times (relative to L1) |

Mean -1.281e+07
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us
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| BTOW times (relative to L1) |
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